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��*]����F&!\����,6�C$&����-\-].�����*�FA�(���K/].����k�CWgB������ $A���I,�,6��0�$&����- �I.]� �%� B ���#���i$&���QB������gWg-�����T=���)$
M^� BY���k ?.�,�����, $&����TH�6�k�(�������]�c�iZaBD$CTI�&9 4��K�(���J���]�c�iZaBD$CTI� M����=M%$=F+$&�����K��*3��� �(���J���6����.�0<+
/�.������#01��-]�6.�0 �������C$ �(�A.�M ����� ���6����.�0<+V/�.������E0E��-��6.]0 ���8����FI���(��0EM^����$&�(.]������9 
����
��,���� �(���=*�����*#�(���)01��-���.�0 $=���`$&������,6���($&����-J�(�E$=����.�0E�@$>M � BY���', $CB ��*�����F=!J-������(���6/�.c�(�6�=*
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Observing Dates ∆T Frequency Flux
(days) (MHz) (mJy)

2005 Jan 6.82 649.34 610 0.50 ± 0.11
2005 Feb 8.81 682.33 325 < 1.5(3σ)
2005 Feb 13.84 687.34 1280 0.85 ± 0.13
2005 Feb 21.71 695.23 610 0.47 ± 0.13
2005 Mar 10.77 712.29 1280 0.63 ± 0.06
2005 Mar 18.66 720.18 610 0.69 ± 0.13
2005 Jun 17.54 811.06 610 < 1.1(3σ)
2005 Jun 28.59 702.11 325 < 1.8(3σ)
2005 Jul 1.19 824.71 1280 0.46 ± 0.08
2005 Sep 2.99 888.51 610 0.68 ± 0.13
2005 Oct 8.20 923.72 1280 0.43 ± 0.08
2006 Jan 1.9 1009.42 1280 0.99 ± 0.08
2006 Jan 4.06 1011.58 610 1.04 ± 0.11
2006 Jul 27.44 1154.96 1280 0.31 ± 0.08
2007 Feb 13.77 1356.29 1280 0.39 ± 0.08
2007 Mar 28.73 1399.25 1280 0.64 ± 0.08

Table 4.1: Log of GMRT observations of GRB 030329. The measurement uncertainties
are given at 1 σ level. The ∆T in column 2 corresponds to the time in days since the GRB.

d
ne(γ) dγ ∝ γ−p dγ h>B������ γ /^����*�F 	 �I����*+� �n $&���(�=���= Q����� ���]�c�iZ&��- ��,����������I*]��B����I���
*3.�0�/^���5-]��*������V!A��� ne

9L
��������@����,6$&�(�UTc�������6����,����������I*]�5F=!H�($&��� �6*1�(����M �I�k� + �����H�iZ�0E$=FI*�� �(���
�%��,6- $&*�-���0E�U�>��!H*��i�����=�(���I* ��$=-�� $ �(�6�=* B��]�6�i�����>������*N$=�K�(�]�n$& "������FI,6� B �& ��(�]�4K)l�o�9

�����M^� BD����,6$ B -��6�k�(����/�.]���6�I* �= �����b��,6�����(���I*���������.�,�������* $EM^� BD����,6$ B ��M^��������.�0 �= �����
$& "������F=,6� B)9R) �C$=*+B�����,6�`�����b�����H�iZ BD$CTI�K-�������,�����$&�(���Q$=���U��M]���IM%$&F+$&�(������*3���E�����b���6����.�0<+
/�.������K01��-]�6.�0 9#4�����.�01�6*�F 0�$&���C+ ��*�����F=!
���I*�������T&$&���6�I*a$=�����I���@�(���E�����H�iZ
 ?���I*+�CW �U�@�%$=�
/^����*n����� B�*n���%$&�'�(��� 	 �=����*+� �@ $=� �(�I�'�= :�(���`�����H�iZ#B5$CTI�` $=,6,���� �2$=��$>M^� BY����, $CB B��U�(�
�(�]���($=-]�6.�� �& L�(��� �:�6����/%$=,�,f9'4 -�� �i$=��,6��-n-��6����.������6�=*\�= L�(��������$=*\/ �` ?�I.�*�- ��* j]$=��� � �)$=,f9
d � ���Is+h 9
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4� "�����>$  ?��B BD����Z3���U�K�6�K�I(cM �����(��-����%$&�K�(�]� -]������,6���($&���6*�F ���]�c�iZaBD$CTI� BD�I.],6-
/^�����=0E��*��I*,+ ����,6$&�(�UTH�6�����6�&9 jc�I01��B��%$ �8�C$&��,6������W��(��� ���6-�� B5$C!H�8�I(]M�$=*������I* �= #��������*�� +
�(�6$=,6,U! �(�6F=�3��,�! ���I,�,6��0�$&����- �I.]� ��� B BD�=.�,6-�/ �����I01�N�601M^�I���($=*+�_$=*�-�/+! �(�]� ���601� �= 
*��I*V+V����, $&����TH�6�k�(���A�(�($&*����U�(�6�=* �����n�����c�iZ BD$ T=�\/ �����I01���E*��C$&��,�! ��M��������6��$=,f9 mV*������n*��=*,+
����, $&����TH�6�k�(���'M]�%$=�����(������TI�=,6.]���6�I*E�= �(���������H�iZEBD$CTI� ��$=*#/^��-����������6/^��-#.����6*�F@�(���Qjc��-�� T +
TI�=* P���.�0E$=*�*,+ 
 $C!H,6�I� d j]P�
'hK����,� ����601�6,6$=�@���I,�.]�(���I*���9 4 -����($=�6,���- -����������6M]���6�I* �= ��(�����
M��%$&��� �C$=* / �A ?�=.�*�- �6* �%�($=��,fW �a$�(c0�$&*�$=*]-�;Q.�,�Z $=��*�� d �=rIr=r+h 9 � /������kT=$ �(�6�=*��>�= ������
/����+$=-�/%$&*�-J$& "�(����FI,�� BN-�.����6*�Fb�����6�YM��%$=���Q�C$=*�/ � .]����-A���K���k�(�60E$&���'T&$=���6�I.��YM��+!H���6��$=, M�$�+
�($&0E� �(�����5����, $&����-������(������(cM�,6�=���6�=*gW]��.��i� $=�D�(�]�Q$=01�I.�*+���= ��*�����F=!A����,6��$=����-#-�.����6*�Fb�����
��(cM�,��I�����I*gW] ?��$=�����6�I*�$=,g$=01�I.�*+���= :��*]����F&!#�6*#�(�]�`$&������,6���($&����-J��,����������I*]��$&*�- ��*A�(���)M^�I���C+
���]�c�iZ 0E$=FI*�� �(�6� �%��,6-�$=*�-�-���*������V! �= ��(��� ���6����.�0b/�.����k�10E��-��6.�0 9�
��]�����nM%$=�($&0E� �(�����
�C$&*8$=,���� / �1���k�(�60E$&����-gW<�6*�-]��M^��*�-���*+�(,�!=W /+!
0E�H-���,6,6��*�F������E� TI�I,�.]�(���I*
�= D������$  "�(����FI,6� B
�6*2�(���A����,6$&�(�UTc�������6�>M��%$=���=WL/�.c���(�����b��. � ������ ?���I0X.�*��������($=�6*+�(�����`����,6$&�(��-a�(�n���I,�,6�60E$&���6�I*
FI���I0E� �(�k! $=*�- ����,6$&�(�UTI�)�I���6��*+�($&�(���I*J�= �����`�=/�������TI����W^M����=/�,6��0E���(��$&�'-���*��&��M], $=FI.]�)�����
*��I*V+V����, $&����TH�6�k�(����M��%$&���=9

oD���C$=.����n01�I���1�= ��(��� K)l�oD�1�H����.]��$&�1���I��01�I,6�=FI�6��$=,D-������($=*������1������!�$=��� *]�=�
/����6FI�+����*��I.�FI�A���K/ �Q�=/�������TI��-n$ ��, $&�������601����$=*]-#�6*� $=� ��01�I�����& <������0� $=-�� /^��,�� B �����
-�� �(��� �(���I*8,6��0E�U�(�Q0�.]�i�8/ �  ?�I���1�(���E���($=���b�= 5�(�]�A*��I*,+ ����, $&����TH�6�k�(�6�KM]�%$=���&9 K)l�o r � r � � �
/^���6*]F��I*����= �(������,��I������� K)l�oY��WHM���� TH�6-���-#.��DB��U�(�#$=*�.�*�� �3.����IM�M^�I����.�*��U�V!E�& , $&���'���601�
�I/������kT=$ �(�6�=*���-�����M ��*3���K�(���)*��I*V+V����, $&����TH�6�k�(����M��%$&���=9


����`/����+$&-�/%$=*�-n$& "�(����FI,�� B �= K)l'o#r � r � � �]W� ?���I0 ��$=-����1��� �%+ �($C!# ?�����3.���*����6����W
�%$=�)/^����*a01�c-���,6��- B����(� ��,6�6F=�3�)01�H-�� �%��$&�(���I*����= Y�����>���($=*�-%$=��-2����,6$&�(�UTc�������6��/�,6$=���QBD$CTI�
01�c-���,fW $=����.�01�6*]F �����������@$

double jet model
d oY����F=���)���`$=, 9�W �&rIr � h��I�)$

refreshed jet

model
d l�����01�L���`$=, 9�W �=rIr+pIh 9KmV*a/^�=�(�\�����E01�H-���,���Wg�(�]�1��$=��,U! + �(��0E�b�IM]�(���C$=, $=*�-��%+V��$C!

,6��FI�+�'��.��kTI���)$&���b�I(cM�, $=��*���- /+! $�������B��U�(�n$E��0E$=,�,<�=M ��*��6*�F�$=*�FI,��)�= 
∼ 5◦ 9�
����b-��I.�/�,��

�����@01�c-]��,L$=����.�01���`$J���E+V$=,6��FI*���- B���-���� ��� �`���I01M �I*]��*+� d
∼ 20◦ h��(�%$&�@��$=�����6��� �����1/�.�,6Z
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�= L��������*]����F&! $=*]-\M����H-�.�������������, $ �(��� + ���601�Q,6�6F=�3����.]��TI����9)mV*n���������  ?����������- ��� � 01�c-]��,fW
�(�]�E��*������ $=, �����@�6�Q����+ ��*�����FI������-
/+!\�(���>����*+�(��$=, ��*�FI��*��>-�.����6*�FJ�����Q, $&������$=, ��(cM%$&*������I*gW �(�
0E$=Z=���U� ���I,6,��60E$&�(��-J���J$EB��6-]��� �IM^��*]�6*�F�$=*�FI,��=9 
������ ���  ?����������- ��� � �(�]��*\M����c-�.]����� �����
, $ �(��+f�(��0E�)��01�6�������I*g9QR'*] ?�I����.�*%$&����,U!IW BY����$=*\*��=�Q-]�6�����6*�F=.��6���n/^���VBY����*\�����b�VBY� 01�H-���,��
B������ $=,6, �����@$CT=$&�6, $&/�,6��-%$&�i$c9

�2�E�%$CT=�A.�����-
∼ � �+rIrJ-%$C!c�b�= �/����+$=-�/%$&*�-a��$=-��6� �I/������kT=$ �(�6�=*�� d q � r ) & �1�(�

� � 9 � K"& � h��= �����1$& "�(����FI,�� B �= �K)l�o r � r � � �]W ���I*�-].�������-a/+! K")nl 
 $=� BY��,�, $=� �(���=���
����M �=���(��-#�C$=��,6����� /3! K")nl 
 d l�����0E�^����$=,f9UW �=rIr+pIh W�� jcl 
 d T&$=*A-����N&��=�����5����$&,f9UW
�=r=r+pIh W
$=*�- � 	 4�$=*�-b4L
 e 4 d oD����FI���:� � $&,f9UW �=rIr � � �%��$=�6,I� � $&,f9UW �=rIr+p=$Ih W �(��0E�H-���,I����� -]!H*%$=01�6�C$&,
��T=�I,6.c�(�6�=*2�= Y�(���1$& "������FI,6� B $&�)BY��,�, $=�@��� ���I*��k�(�($&�6*
��(cM�,6�=���6�=*
��*�����F=!I9�
�����$  "�(����FI,6� B
,6��FI�+����.]��TI��������� BS�(�]�����@-������(��*����5M%$=�������= � TI�I,�.]�(���I*

Rise :

�����,6�6F=�3�`��.]��TI���6�b���6���6*�F �6*��U�(� $&,6,�!=W B������_$=,�0E�I�k��$ ����0E��, $=�Q��$&�(�E�= ��������A$ �K$=,�,

 ?��� �3.���*]���6��� �I(c����Mc�\$&� q � r ) & �\B��������
BY�
-�� *��=� �%$CTI�
�I/�������T&$&���6�I*]�#-�.�����*�F
�����A��������*�FnM���$=���#�= ������#$& "������FI,6� B)9n
��]�J$& "�(����FI,�� B �i$=Z&���K,6�=*�FI���@�(� ���C$=�i�_M^�C$&Z
/����6FI�+��*�������$ ��,�� BD���5 ?��� �3.���*��������'���I01M%$=����-J�(�K�(��$&�'$&������FI�����5 ?��� �3.���*���������9

Fall :
4' "�(���@�(���EM ��$=Z[W �(�]��,6��FI�+�@��.��kTI�� $=,�,6�QB������8$=,�0E�=���`$n����0E��, $=���($&������$ �K$=,�, �(���

 ?��� �3.���*]���6����9

Flattening :
4� "�����@$=/^�I.]�

∼
sIr#-%$C!H�`$& "�(��� �(���>/�.�������W �����>,6��FI�+�Q��.��kTI�E$&�)����FI�����  ?����+

�3.���*�������� d � �c9 p7K"& �=W � p K=& �&W�s]9 � K"& � $=*]- ��9 s K"& � h W5B��]�6�i�N�%$=-��(��� M^�C$&Z
/����6FI�+��*������'/^�� ?�=���

∼
sIrK-%$C!c��W �[$&������*����I.c�C9


�������/ ���%$CTH�6�I.��b�= ��(���#,��6FI�+�`��.��kTI����WD��$=*_/ �#�I(cM�, $=��*���-8$=�K/ ���6*�Fn-�.��A�(� �����
�(��$=*������(���I*n�& ������/�,6$=����B5$CTI�� ?���I0 ����,6$&�(�UTH�6�����6�)�6*+���A�(����*]�I*,+V����,6$&�(�UTc�������6�)M��%$=���K�= ��T=�E+
,6.c�(�6�=*n$&�

∼
qIrE-%$C!H��W^�(���`��M^�c�i�n�= ,��6FI�+�'��.��kTI� �%$&������*���*�F�9 d �%��$=�6, � � $=, 9�W �&rIrIr��%T&$=*n-]���

&��=�����'� ��$&,f9UW �=rIrIp �%l�����01�g� ��$&,f9UW �=rIr+p=h 9
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4�,��I*�F�B��U�(�K�I.]� � B�*#K")nl 
 �I/������kT=$ �(�6�=*��L$&� � �IpcW+q � rQ$=*�- � �=s=r=) & �5BY���%$CTI�
$=,����#.�����-a�=/�������T&$&�(���I*��Q����M^�I������- �6*\,����(���($&��.���� d T&$=* -����"&'�I���k�)���@$=, 9�W �=rIr 
Ih��(�J0E�H-���,
�(�]�A/����I$=-�/%$=*]-_/ ���%$CTc���I.��`�= ��(����$& "�(����FI,�� B �= %K@l'o r � r � � �c9n
����A-�$&�i$n������ ?�=��01��$
�(��0EM^�I��$=,%/%$=����,6��*�����(H�(��*�-���*�Fb.�Mc�(� � �+rIr)-%$C!c� ����*����'�(���'/�.������D$=*�-E��M^�������($=,[��$=*�FI�� ?���I0

� �Ip�) & ���(� � � 9 � K"& �=9 �2���%$CTI��.�����-A�(�����D-%$&�($`�(�`0E�H-���,^������-]!H*%$&0E���C$=,[��T=�I,6.c�(�6�=*��= 
�(�]� $& "������F=,6� B $&� BY��,�, $&� ���b���=*������($=��*1�������I(]M],6�I���6�I*1��*�����F=!=9LmV* � ��FI.���� �]9 � BD�����I01M%$=���
�I.���01�c-]��,gM�����-��������6�I*��5B��U�(�J�I/������kT=$ �(�6�=*���9

4.3.1 Physical Parameters


���� �]���(��-n��M �����(��$=,<M%$=�($&0E� �(������0E$C!J*�� B / �@.�����- �(�E-�������TI�@�(���@M��+!H�����C$=,:M%$=�($&0E� �(�����
�= 5�������I(cM�,6�I���6�I* 9A
�����/]���C$&Z  ?��� �3.���*��������K$=*]-2�(�]��M^�C$=Z �%.V( W �������60E$&�(��-a-�����M8��*
�����
*��I*V+V����, $&����TH�6�k�(����M��%$&���=WY�f9 �=9 $&�1$\���� ?������*���� ���601�

t0 � tNR
W �C$=* / �#.]����- �(�\!H�6��,6- $=*

���k�(��0�$&��� �= �(�]�@/], $=�k�5B5$CT=�@��*�����F=!
EST

$&*�-#�(���)$=0b/��6��*3�5/%$=��!=�I* -���*������V!
ni
W�.����6*�F������

jc��-�� TJ+ 
 $C!H,6�=�:���I,6.]���6�I*Q ?�I�g����� /�, $=�k� B5$CTI�&WI�6*)�(�]� 0E$=*�*]���<$=-��IMc�(��-`/+! �[��$=�6,=���:$=,f9 d �=rIrIrIh
d �]������$& "�(��� � � ;)rIr+h  ?�I��K@l'o � 
=rIp=rIs]9:
<BY���=�������5M]�3!H���6�C$&, M%$=��$=01���(����� �(�%$&�D-���������0E��*��
�(�]��� TI�I,�.]�(���I*>�= �������($=-��6$&�(���I*>$=���������� ?�($=� �(���I*>�= ���=�i$=,]��*�����F=!>��*E����, $ �(��TH�����(���D��,6��� �(���I*��
d
εe
hQ$=*�-2�6* �(���1M �=��� + �����H�iZ 0�$&FI*������6���%��,6- d

εB
h ������M ��������TI��,�!=9#mV*a�I��-����)�(� -���������0E��*��

�(�]�����  ?�I.����3.%$&*3�������6����W��I*�� ��� �3.��������E�(�]� 0E��$=��.]����01��*+���=  ?�I.��E��M^��� �(�($&,�M%$=��$=01���(������W
�(��$=-��U�(�6�=*%$=,6,U!2�����J�(�������n/]���C$&Z  ?��� �3.���*��������A$&*�-��(�]� �%.V(�*]�I��0E$=,6���($&���6�I* 9 mV*��(��� , $&���
M��%$&���=W ��� BD� TI����W -��6����� ��-�� �(����01�6*%$&���6�I* �= L�����b���c�I,��6*�F> ?�����3.���*�� ! ����-�� ?1��.�,U�CW^���6*]���`�����
$& "������F=,6� B �6�'*��=��-����������($=/�,��K$&�� ?��� �3.���*��������)$=/^� TI����$=-��6�E/%$=*�-]��9 �2�b�(�]�����  ?�I���`��(cM��������
�(�]�KM��+!c���6��$=,LM%$=��$=0E� �(�����Q$=�)$� ?.]*������6�I*\�= �����K�($&���6�

εr ≡ εe/εB
�
εr = 1 BD�I.],6- ����FI*��� "!

$=* � �3.���M%$=���������6�I*A�& ��*�����F=!J/ � �VBD����* �(���)0E$=FI*�� �(�6� ����,6- $=*]-J�����)����, $&����TH�6�k�(�6��M%$=�k�(�6��,6����9
�%�I,6,�� B��6*�F � �^9 d pIh)�= � � ;)rIr]W BY�#0�$C!
�(����*_B��������E�����#M �=��� + �����H�iZa��,6�����(���I*

*3.�0�/^����-���*����U�V! $=�

n = εr

(

p − 2
p − 1

)

B2
0

8πγ0mec2 (4.1)
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Figure 4.1: Light curves of GRB 030329 afterglow : GMRT observations of GRB 030329 radio afterglow compared with the
predictions from Non-Relativistic evolution of the fireball. The observed data are denoted by points. The lines represent model
predictions of the afterglow light curves. See the boxes at the top right in the both the panels to know corresponding frequencies.



4.3 Modeling the Multifrequency Radio Afterglow 118

�2�\�6*��������J�����6�#��* � �[9 d 4 � �Ih��= � � ;)rIr]W�$=*�- �6*+T=�����J����������� �3��9 d 4 � rIhE�(�
d 4 � �IhDB�����,6�Q0E$=Z3�6*�FK.����b�= <�(�]�`����, $ �(�6�=*�� d 4�q+hD�(� d 4�s+h 9 
�������!H����,6-]�������) ?�I,6,�� B���*�F������
�= :��(cM����������6�I*]�� ?�I�5����� � � ;)rIr�0E�H-���,gM%$=��$=0E� �(�������

γ0 = 88.3 d2/17
28

(

εr

η10

)2/17 (

f 3
2
f3

)1/17

·
[

(p − 2)2(p + 2)3
]1/17

(

νm0,GHz

νa0,GHz

)3(p+4)/34

F1/17
m0,mJy (4.2)

r0 = 1.407 × 1018 cm
d16/17

28

(1 + z)

(

η10

εr

)1/17 (

f 7
2

f 8
3

)1/17

·
[

(p + 2)7

(p − 2)

]1/17

ν
(7p−6)/34
m0,GHz ν

−7(p+4)/34
a0,GHz F8/17

m0,mJy (4.3)

B0 = 4.58 × 10−2 G (1 + z)
d4/17

28

(

η10

εr

)4/17 (

f3

f 3
2

)2/17

·
[

(p − 2)4(p + 2)6
]−1/17

ν
(5−3p)/17
m0,GHz ν

3(p+4)/17
a0,GHz F−2/17

m0,mJy (4.4)

ni =
0.69 cm−3

1 + XH

(1 + z)2

d10/17
28

(

εr

η10

)7/17 (

f3

f 3
2

)5/17

· 1
(p − 1)

[

(p − 2)7

(p + 2)15

]1/17

ν
(8−15p)/34
m0,GHz ν

15(p+4)/34
a0,GHz F−5/17

m0,mJy (4.5)

mV* �(���
$=/^� TI�=W
r0
�6�A����� �($=-���.��#�= @�(��� /�,6$=����B5$CTI�&W

B0
�6�A����� M �=��� + �����H�iZ 0E$=FI*�� �(���

�%��,6-gW[$=*]-
γ0
�6�5�����),6� BY������.]��� � �= <�(���)M^� BD���C+V,6$CB -������(���6/�.c�(�6�=*A�= ����,6$&�(�UTc�������6����,6�����(���I*

	 �I����*+� �  $=� �(�I����W%$=,�, $ �5�(���Q���� ?������*]���Q�(��0E�
t0
9 �[���I0 �(�������=W������ /�,6$=���DB5$CTI�)��*�����F=!#0E$ !

/^�@���I01M�.]�(��-n$&���

EST = nimp

(

1 + z
t0

)2 (

r0

ξ

)5

(4.6)

=
8.576 × 1056 erg

(1 + XH)ξ5t2
0,d

d70/17
28

(1 + z)

(

εr

η10

)2/17 (

f 20
2

f 35
3

)1/17 (p + 2)
(p − 1)

·
[

(p − 2)2(p + 2)3
]1/17
ν

(10p−11)/17
m0,GHz ν

−10(p+4)/17
a0,GHz F35/17

m0,mJy (4.7)

mV* � �^9 d ��9 �Ih �������=.�FI� d �]9 
Ih W
νa0,GHz

$=*�-
νm0,GHz

$=�����(��� �VBY�>/�����$=Z1 ?��� �3.���*���������W%��* K"& �
.�*��U�(��WY$ �b�(�]�#���� ?������*����#�(��0E�

t0 = t0,d
-%$C!H��9

����J��(cM����������6�I*]�>$=����.�0E�A���%$&�

νa0,GHz >

νm0,GHz
W^B������i�n�%$&M�M ��*�������/^�@�����b��$=���`�6* K@l'o5r � r � � �>$&�'�(�������`, $&���@���601����9

Fm0,mJy
���
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�(�]�@*]�I��0E$=,6���($&���6�I*E�= <�(��� �%.,(J$&��$=*J�I/�������TH�6*]F1 ?��� �3.���*]��!
ν � νa, νm

W���(cM�����������- $&�

fν(t = t0) mJy = Fm0,mJy

(

ν

νm0

)−(p−1)/2

(4.8)

z
���`�(�]�A����-������U "���= ������A/�.]�����K$=*�-

d28
�(�]�����=��������M^�I*�-���*�F ,�.�0E��*��I�����V! -������i$&*����&9 
����

�(�]�6�iZ3*��������= �(�]� M �=��� + �����H�iZ1��01�������6*�F@����FI�6�=*#$&��$&*3!1�(��0E�'�6�D$=����.�01��-A�(�b/ �
r/η

WcB��]�����

r
���b�(�]�#�($=-���.����= ������#/�, $&����BD$CTI� $=*�-

η = 10η10
9

f2
$=*�-

f3
$=���A��*+�(��F=�($=,���� TI���������

��!H*��i�]���=�����I*N ?.�*�� �(���I*�-�� �%*���-N�6* � � ;)rIr ��/^�=�(� $=���  ?.�*������6�I*]���= 
p
9 
���� �3.%$=*+�(�U�V!

ξ
W���,6�I��� �(� .�*��U�V!IW����J$=* � �3.%$&���6�I*N�& b�k�i$&����+V-]��M^��*�-���*+�n*��=��0E$=,6���($&���6�I*  $=�����I�A ?�I�������
/�,6$=���KBD$CTI�J�($=-]�6.�� d � � ;)rIr+h 9

XH
����M���������*+�(�>�(���J0E$=���� ?��$=�����6�I*a�= ��+!H-����IFI��* �6*8�����

��������.�0�/�.������'01��-���.�0 W]$=*�-JBD�@$=����.�01�)�������1/^�)�= :M�����0E�I��-�� $&,[T&$=,�.��Q�= 
∼ 0.75

� T&$=,6.%$ �(�6*]Fb��M^��� �(��$=,gM%$=��$=01���(�����D ?���I0 �(��� �����(��- 01�H-���, Wc�I*]� �%*�-���W[$&��$����� ?��� +
��*]�����(��0E�

t0 = 500 d W νm0,GHz = 1.88 × 10−3 W νa0,GHz = 0.775 $=*�- Fm0,mJy = 37.9 9Q
����
�����(��- T&$=,6.]�K�= 

p
�6� �c9 � 9KR'����*�F z = 0.1685 $=*]-

d28 = 0.25  ?�I�"K@l'o5r � r � � ���=*��K�(����*
���k�(��0�$&�����

EST = 0.82 × 1051 erg
(

εr

η10

)0.12

(4.9)

ni = 1.3 cm−3
(

εr

η10

)0.41

(4.10)


����
/�, $&���#BD$ T=�a��$=-��6.]� $ � p=rIr - BY�I��Z3� �I.]�J�(� /^�
r0
� r]9 � M^� (εr/η10)−0.06 9�
����

���=��������M^�I*�-���*�FAM^�I���������H�iZn0E$=FI*]���(��� �%��,�- �6�
B0
� r]9 r+p�
�K (εr/η10)−0.24 Wg$=*]-n�(���`,6� BY���

��.c�(� � �& `��,6�����(���I* 	 �I����*3� �  $=�����I�#-������(���6/�.c�(�6�=* $&�#���%$&�A���601�n�6�
γ0
� � 9 
 (εr/η10)0.12 9


��������`!H����,6-
εe
�
εrεB

� 0.15(εr/η10)0.24 9

4.4 Discussion


����Q�I/]�����kT&$&�(���I*��D�& 	K@l'o r � r � � �b$  "�(����FI,6� B FI�UTI�Q$&*A.�*�M���������-���*3����- Tc����B �I*A����� *��=*,+
����, $&����TH�6�k�(���'� TI�I,�.]�(���I*AM���$=��� �& <$<K@l'o�/�,6$=���YB5$CT=�=W�/^����$=.����Q�& �(����B���-�����$=*�FI����� TI������-
�6*J/^�=�(�# ?��� �3.���*]��! $=*�-#���601�=9 
�������FI��T=����.��5�����)�IM�M^�I����.�*����V!E�(�K���I0EM�$=��� �����)M��+!c���6��$=,
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M%$=��$=01���(�����>�(�%$ �EBY� �%$CTI� -�������T=��-� ?���I0 �(���JTI����!�, $&����+f�(�601�#-%$&�($ B��U�(� �(��� M��+!c���6��$=,
M%$=��$=01���(�����<-�������T=��-` ?���I0S�����Y��$=��,U! + �(��0E� -%$&�i$cW B�����*`�����Y/], $=�k�<BD$CTI� B5$=�<�����6,�,I��(H�(����01��,U!
����, $&����TH�6�k�(���=9 �%���I0 �����)��01����F=�6*�FKM��+!H�����C$=, M]�6����.���� BY�@M�.]�����=*������($=��*3�����I*#�(���)��01�6�������I*
 ?���=0 �(�]�
���I.�*+�(��� �����CW $=*�-NBD� ���I0EM�$=���\�I.]� �%*�-���*�FI�#B������ ����� ������.�,U�(�A ?���=0 � 	 oDm
01�C$=��.�����0E��*3�����& :�����)���I.������)��� ���)��T=�I,6.c�(�6�=*g9

4.4.1 Relativistic versus Non-Relativistic

�2�`�%$CT=� �����(��- �(���`$CT&$=�6,6$=/�,6��-%$&�i$>�= :�(���@�($=-]�6�1$& "�(����FI,�� BS�= K@l'o r � r � � �>����M%$&�($&����,�!=W
d � h<�I*�,U!@-�.�����*�F������D����, $ �(��TH�����(��� d < �+r'-%$C!H�ih M��%$&���=W d �Ih �I*�,�!@-�.]���6*]F��(���Y*��I*,+ ����, $&����TH�6�k�(�6�
d
> � rIrb-%$C!H�ihDM]�%$=���&W%$=*�- d � h ����� ��*3���6����-%$&�($���� �5B��������(�����C$=��,6�6�����D�I/�������T&$&���6�I*#$ ��r]9 p=s
-%$C!H� d $&�'s]9 ��K"& � h5.�M]��� � �+rIrK-%$C!H��$  "�(���������)/�.����k�C9

mV*>�������(���I* ��9 � 9 � BY�'��$=,6��.�, $ �(��-��������(�=�($=,���*�����F=!K�6*K������/�, $=�k�LB5$CT=� EST
$=*]->�����

-���*����U�V!#�= �(���)���6����.�0�/�.]������01��-]�6.�0
ni
$=�5 ?.�*]���(���I*����= �����Q�($&���6�

εr ≡ εe/εB
W�$=����.�0E��*�F

�(��$&���(���)/�,6$=���5BD$CTI�@B5$=����* �U�(��*��=*,+V����, $ �(��TH�����(����M���$=���&9
jc��0E��, $=��,�!IW�BY�>�%$CTI�>-�� �(����0E��*���-\���������1M�$=�($=01��������� .�����*�FJ�I*�,U! �����K����, $&����TH�6�k�(�6�

��T=�I,6.c�(�6�=*a�= 5�����E$& "�(����FI,�� B d
<

�Ir -%$C!H�ih 9 � .��@/ ����� ���bM�$=�($=01���������b�6*]-��6��$&�(�K�(��$&�`�����
����,� +V$=/����=��M]���6�I*1 ?��� �3.���*���!#$&� � rc9 rb-�$ !H��$& "����� �(��� /].����k��B5$=� ��.�����/^��,�� B νm = 1.8× 1010

& �&W�M ��$=Z �%.,(
Fm

$&�>�(�%$ ����M �H�i��/^����*�F
∼ 50.5 0�O&! $=*�-

p = 2.1 9 
���� ���k�(�60E$&����-
M��+!H�����C$=,�M%$=��$=01���(��������.���* �I.]�>�(� /^� �

Eiso
K = 5 × 1050 ν

1/4
c13

����F�W
n = 0.6 ν3/4

c13

��0 −3 W

εe = 0.2 ν1/4
c13

$=*�-
εB = 0.4 ν−5/4

c13

9bR����6*�F#�(�]�K/ ��������� �����)/]���C$&Z �(��0E�
∼ 13 -%$C!n����� �����

�IM^��*���*�F1$=*�FI,��Q�6�������(��0�$ �(��-#���1/^�
∼ 21.5◦ $=*�-J����*���� Ecorr

K = 1050 ν
1/4
c13

9

����#��*3���6���A-%$&�($n��� �>�C$=*_/^�A.�����-_�(�\�����(��0�$ �(�E�����A��M �H�i� �= �*��I*,+ ����, $&����TH�6�k�(�6�

�(��$=*������(���I*nB������i�\�(.���*��Q�I.]�Q���#/ �
∼ 60 -%$C!H��9�
����K/^���k� ���)��M^��� �(��$=, M%$=��$=01���(��������.���*

�I.]�D�(�K/^� ��,��6FI�+�(,U!>-�� � ������*+�5 ?���I0������ � �I*�,U!E����,6$&�(�UTc�������6�8F3/^���k� ����M%$&�($=01���������5$=*�-#����*����
�(�]�
������.�,��($=*+�JM��+!c���6��$=,QM%$=��$=0E� �(����� �

Eiso
K = 5 × 1050 ν1/4

c13

����F]W
n = 1.0 ν3/4

c13

��0 −3 W

εe = 0.13 ν1/4
c13

$=*�-
εB = 0.6 ν−5/4

c13

9�R'���6*]F��(���`/ ����� �]� ������/�����$=Z#�(��0E�
∼ 13 -%$C!J�(��� �����
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�IM^��*���*�F1$=*�FI,��Q�6�������(��0�$ �(��-#���1/^�
∼ 23◦ $=*�-J����*���� Ecorr

K = 1050 ν1/4
c13

9
� .�� �������60E$&�(��� �= /^�C$=01�6*�F)���I������������-A��*�����F=!1.�����*�Fb�=*�,�!K����������,6$&�(�UTc�������6��M��%$&���

�= �$  "�(����FI,6� B �(.���*��b�I.c�`���n/^�E��0�$=,�,6���Q/3!2$J $=�����I�)�= �s ���I01M%$=����-2���
ES T

.�����*�Fn*��=*,+
����, $&����TH�6�k�(����M��%$=���KB����6,��K�������60E$&�(��-a$&0�/��6��*+�)-���*������V! ��*
/^�=��� �����1M��%$=�����@�= D� TI�I,�.]�(���I*
�(.]��*����I.]�'/^�)���I01M%$=��$=/�,6�&9

�%�($=��,D� �1$=,f9 d �=rIr+p /[hb0E�H-���,6��-8����� �%���k�>!I�C$&�E�= ��I/������kT=$ �(�6�=*���B������ ����� � 	 4
$=*�- 4L
 e 4bW $=*�-J ?�I.�*]-n$K�(�=�($=,gZ3�6*]���(���)��*�����F=!J�= 9.0 × 1050 ����FI� �[.����6*�F1�I*�,U!��(�]�`-%$ �i$
/^�� ?�I����q �@-%$C!H�Y������!1-�������T=��$&*���*]����F&!E�& 6.7×1050 ����FI� d ����� $=,����`oD����FI��� ���D$=, 9�W��=r=r � h W
$n $=� �(�I�`�= 

∼ 7 , $=��FI���@�(�%$=*_�=.��
Ecorr

K

�Y$=*�-_.����6*�F\�I*],�! �(���#-�$&�i$ $  "�(���Kp=r -%$C!H���(��� !
�%*�-2$=*
��*�����F=! �= 7.8 × 1050 ����FI��W<����0E��, $=���(�J�I.]�@�������60E$&�(���Q�= EST

9>mV*
���������E01�H-���,��
�(�]���($=*]FI�b ?�I���(���b���6����.�0b/�.����k�Q-���*����U�V!n���

∼ 1 − 3 cm−3 W $�/]��� ,6$=��F=�����(�%$=*n�I.���T&$=,�.�����9
KQ�($=*��&��� �Q$=, 9 d �=rIr+p=h'$=,����1-���������0E��*��`�����b��*�����F=! $&*�- -���*����U�V! B��U�(� ����������01�H-���,���W^$=*�-
�%*�-������5���I,6,��60E$&�(���I*Q���I���������(��->��*�����F=!`B����6�i�K��� , $&��FI���:/+!K$' $=�����I� �= � ���I01M%$=����-b�(�Q�=.��
���k�(��0�$&������9 
��������LT=$&,6.��5 ?�I� �����'-���*������V!>����W+��� BY��TI����W]$=*E�=��-���� �& g0E$=FI*��U�(.�-���,6$=��F=����W=/�.]�
�(�]��! *��=���)���%$&���(�]�6���C$=* / �@$&���(���6/�.]����-J�(�>�(���) $=� �'���%$&���(�]�`-���*����U�V!J-���M^��*]-����k�(���=*�FI,�!
�I*J�(���)M��������6���QT&$=,�.��Q�= 

νa
$=*]-
νm
9

KQ��TI��*N�(���
-�� � ������*������J�6* �(�]�
01�������H-��#.�����-S/+! -�� � ������*+� $=.]�����I��� $&*�- �����
.�*������k�i$=��*3���6���n�6* �(�]�8$=����.�01M]�(���I*�� 0�$&-��
���������(��0�$ �(�\�(�������8*3.�0b/ ������WQ������! �C$&* $=,6,
/^�2���I*�����-�������- �(� / � ���=0EM%$&�($=/�,��=9 m � �6�#*��=� M^�I�����6/�,��\�(� 0�$=Z&�
$=*+! -����%*]���(�
���($&�(�I+
01��*+�(�D$=/ �=.]� ���6F=*�� �%��$=*+� -�� � ������*������D��*E��*�����FI�6���Y-]�����UTI��-� ?���I0 �(��������,6$&�(�UTH�6�����6��$&*�-�*��=*,+
����, $&����TH�6�k�(���@M]�%$=���&9�m  tW^��� BD� TI����Wg�(�]�b���=0E� B��%$&� ,6$=��F=���'�������60E$&�(�@�= ���=�i$&,<��*�����F=! �6* �����
*��I*V+V����, $&����TH�6�k�(���:M���$=��� �6� ��*�-�����-Q�(��.��=W �(�]��*)�VBD�'M �=������/�,6� ��(cM�, $&*%$&�(���I*��g0E$C! /^� $=-]T&$=*�����-
 ?�I� �����6� �����U�(����� �(���K/^�C$&0E��*�F#$=*�F=,6����*\����,6$&�(�UTH�6�����6�@M��%$=���>�6�Q.�*�-]�����������60E$&�(��-gW FI��TH��*�F#$
��0E$=,�,6���@T&$=,6.��E ?�I�b�(�]�#/ ��$=0E��*�F ���I������������- ��*�����F=! �5�=�

EST
�6��� T=���C+ ���k�(�60E$&����-_/^���C$&.����

�= D*��I*,+ �6���&�(���=M3!n�6*\�(�]�E��0E���������I*\���=0E��*�F# ?���I0 �(���1/�, $&���QBD$ T=����* �����>*��I*,+ ����, $&����TH�6�k�(�6�
M��%$&���=9 mV*J�(���Q,6$&�������Y�C$=���@�U�����=.�,6-#/^� �(�%$ ���(���Q/�,6$=���DB5$CTI�@�6�D*��=�����=0EM�,�������,�!1��M��������6��$=,
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!I� �CW3/�.]� ���(��,6,3�(����� TI�I,�.]�(���I*���� BD��,6,c-�����������/ ��->/3!`�(���'jH��-�� T +V
:$C!c,��I� ���I,6.]���6�I* W=�I� ���%$&� �����
/�,6$=���5BD$CTI�@�6�5��M��������6��$=,fWc/�.]�������Q��01�6�����6�=*A�6��*��&�����I01�6*]Fb ?���I0 �(�]�Q/�, $=�k�5BD$ T=�`�����=�����IMV+
�6��$=,6,U! �g�6* /^�=���\�C$=�����Q�(����T&$=,�.����= 

EST
���%$&� BY�>-�������T=��-\BD�=.�,6-\/^�>$=*\� TI���C+V�������60E$&�(���I*

�= <�(���Q����.��QT&$=,6.]�=9

����`��*�����FI�������(�%$&�'BY��$=*�- �%�($=��, ����$=,f9 d �=rIr+p&/%h�-]�����UTI�`�6*�-����C$&���Q�(�%$&�'�I.]�������(� +

0E$&�(�K�= Y�(���>����, $ �(��TH�����(���b/^�C$=01�6*]FJ$=*�- �(���1$=����.�01M]�(���I*\�(�%$ �Q�(���>/�,6$=���)BD$ T=�E/^�����I01���
��M]�������6�C$&,Y$ �

t ' tNR
$=���KT=$&,6�6- 91
��]�E,6$&�������)�6�)�601M^�I���($=*+�  ?�I�Q�(�����(��*�FJ�(���10E�H-���,6� �(��$&�

-����������6/^�n�(�]�n, $ �(����$=,���M]���C$&-��6*�Fa�= �(�]�n���=,6,6��0�$ �(��- �I.c� �%� B $& "�����E����� ��� � + /�����$=Z_�(�601�=W
B�����*��(��� 	 �I����*+� �� $=�����I� -����IM]�Y/^��,�� B��(���'�6*+T=���������= �(���'�%$=,U +V�IM^��*]�6*�F)$=*]FI,6���= �(��� ������9
jc�I01� d ����01� +V$=*%$=,U!H���6��$=,"h 01�c-���,6� d �=9 F�9Ll����+$=-���W � �����Ihb$=����.�01� $ T=����!8�($=M���- ���6-]��BD$ !H�
��(cM%$&*������I* �& :����� ������B������ $>,6$&�(���($=, ��(cM%$=*]���6�=* T=��,6�H���U�V!A�= �����)�I��-������= <�(���QTI��,6�H���U�V!A�= 
,6��FI�+�CW ������.�,����6*�F��6*\$=*\�I(cM �I*]��*+�(�6$=, FI��� B����\�= �(��� ��� �Q�%$=,U +V�IM^��*]�6*�F�$=*�FI,��`B������\�($=-]�6.���9
&'!H-����c-c!c*�$=0E���C$=, ����0�.�, $ �(�6�=*���W3��� BY��TI����W[���]� BS$bTI����!#01�H-����k�5-���FI�����Q�= <, $&�����($&, �I(]M�$=*,+
�����I* $=��,6�I*�F1$=���(�]� ��� ����������, $&����TH�6�k�(�6� d  ?�I�'$=* ��(H�(��*����UTI�`����TH����B)W[�����;KQ�($=*]�=�CW �=r=r 
Ih 9 mV*
�(�]� , $&���(���D01�c-���,%�(��������� �I.c� �%� B �6�Y���(��,6,[�������I*]FI,�!1���=,6,6��0�$ �(��-KB�����*#�(��� /], $=�k�DBD$ T=�Q/ �I+
���=0E���D*��I*V+V����, $&����TH�6�k�(���=W=B�����,6���(��� �%���k�501�c-]��,%M�����-������(� �(�%$ �Y������/�,6$=��� BD$ T=� �6� d $&,601�I���ih
��M]�������6�C$&,L$&�

t ' tNR
W B����6�i�\���� $CTI�I.]����-\/+!n�I.��Q$=*�$=,�!H������W ���6*]���b���������K�6��*]�#���6F=*�� �%��$=*+�

�i�%$=*]FI�`��*A�(��0EM^�I�($&,g��,��IM ����$& "�(���
tNR
9

4.4.2 Counter Jet Emission

4��E���($&�(��-�/^�� ?�I��� ���I0E�J�= ��(���  ?�C$&��.������E������* �6* �(��� $& "������F=,6� B ,��6FI�+�>��.]��TI���#$=���JBY��,�,
��(cM�,6$=�6*]��-@/3!)��*+TI�IZ3�6*]F������ �3!HM^�=�(�]�������<���%$&� �(�]�BK)l'oD�<$=*�-)�(�����6�<$& "�(����FI,�� B�� $=��� -�.�� �(��$
���=,6,6��0�$ �(��-`�I.]� �%� B���$&�(����� �(�%$&*E$Q��M��������6��$=, �%����/%$=,�,f9:P�$&��.��($&,6,�!=W&���������I,�,6��0�$&����-`�I.]� ��� B
�I� ��� �>�6��/�� +V-����������(���I*%$=, $=*]- �����#����, $&����TH�6�k�(��� ��� �(�1$=���#M^�I��*3����-_��*_�IM�M^�I���U�(�A-����������(���I*���9
4�M�$=���� ?���I0 �(�]��*%$=����� B ���I,�,6��0�$&���6�I*A�����b����,6$&�(�UTc�������6�)/ ��$=01�6*�F1M �=�6*+�(�'�(������$=-��6$&�(���I*J�6*
�(�]� -]�6���������6�I*Q�= H01�=�(���I* �= H�(�]� �����(��9 4�� $�������.�,�� �����L�($=-]� $&���6�I* ����������T=��-) ?���I0 �(���  ?�=��BD$=��-
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�������6���I(]M^��� �(��- ��� -��I01�6*%$ �(��� T=�����(�]�A�($=-]� $&���6�I*
 ?���I0X�(��� �����K��*8�IM�M^�I���U�(�A-]�6���������6�I*g9
� TI��*3��.%$=,�,�!1B�����*#�(�]� �������5/ �����I01� *��=*,+V����, $ �(��TH�����(���'$=*�-A��0E���������I*A���D*���,��I*�FI���D�k�(���=*�FI,�!
/^�C$=01��-
$CB5$C!\ ?���I0 .���W $#����/����6FI�+�(��*��6*]F#�6*\�(���>��$=-��6�#,��6FI�+��-�.��>�(�J���I*+�����6/].]�(���I*  ?���I0
�(�]�`���I.�*+�(��� �����'���'M]����-]�6������-n$&��$=/ �=.]� 5 × tNR

d KQ�($=*��&�'$=*�- 	 �H��/gW �&rIr � � 	 � $=*�- jc�I*�F]W
�=rIr��3h 9

4�-��IMc�(�6��*�F �I.��>T&$=,6.����E�& 
tNR ∼ 60 − 80 -%$C!H�E�(�]�n����/�����FI�+�(*���*�F
�6�1��(cM ��������-

$&�
∼ 300 − 400 -%$C!c��$& "�(���E�����n/�.]������9 �%���I0 � �6F=.���� ��9 � W5��� BY��TI����W'���E�6�1��,��C$=�>�(�%$ �

��.]�i� $> ?��$&�(.����b�%$&��*��&��/^����* �I/�������T=��-\.�M �(� � !=�C$=��� $& "�������(���`/�.����k� d B����6�i� B5$=��$=,����
*��=����-gW B��U�(�
�I/�������T&$&���6�I*��Q.]M
��� ��!=�C$=���b$& "����� �����>/�.����k�CW /+!
7L�6��,����(���I0 ���`$=,f9UW �=r=r 
Ih 9

���� �C$=,���.�,6$&�(���I*��`/3! 	 ��$&*�-�jc�I*�F d �&rIr �3h�$=���AT&$=,6��-8 ?�I�b�(�]�I��� �I/�������TH��*�F\ ?��� �3.���*��������
$&�EB����6�i�������n,��6FI�+�1��.]��TI�nM ��$=Z3�EB�����* �(��� /�, $=�k�EBD$CTI�\���E�k�(�6,�,�.�,����($�+ ����, $&����TH�6�k�(�6��$=*�-
*%$=����� B�,�! ���I,6,��60E$&�(��-g9D
�������01�C$=*]���(��$&���U����$=* �I*],�!J/^��$=M�M],6�6��- ���E�����b,��6FI�+�'��.��kTI���)$&�
s]9 � K=& �@$=*�- ���6F=������ ?�����H.]��*����6����9 � TI��* $ �'���������` ?��� �3.���*]���6����BY�b-��E*��=��������0 �(�1�%$CTI�
-�� �(��� �(��-�$=*+!a��.��i�  ?�C$&��.����&W $=,������I.�F=�8���b�6���%$&��-8�(�\0E$=Z&�#-����%*]���(�����i$ �(��01��*+���>$=/ �=.]�
�(�]�6��W[���6*����`�I/]�����kT&$&�(���I*���$&���(�������` ?��� �3.���*�������� $&���`$ T&$=��, $=/],6� �I*],�!#.�M �(� � qIr>-%$C!c��9�
����
,6��FI�+�5��.���T=���'$&� �c9 � K"& �Q$=*�-J,�� BY���Y ?��� �3.���*��������'$=��� *��=���I(]M^��� �(��- ���K����� BS�����6�DZH��*�-#�= 
���I+V/����6FI�+����*���*�F�W�/^����$=.����Q������!JM^�C$=ZA$&���I��$& "�����

tNR
9

e �I*���,6.�-]�6*�F�W%BY���C$&* *��=���($C!IW^ ?���I0 �����b,��6FI�+�'��.��kTI���QM���������*+����- �������=W^B������������
BY�1��$ T=�E������*2��0E���������I*  ?���=0 �(�]�K���I.�*+����� �����)�I� *]�=�C9K
����K $=� �Q�(�%$ � BD�1-��J*��=�)�����1$
, $ �(��+f�(��0E� ����+ /�����FI�+�(��*]�6*�F1$&�'����FI� ��$=-����> ?��� �3.���*������������I.�,�- /^�`-].��@���E�����@ $&�����(�%$ �'�����
�I.]� �%� B �6�D*]�=�DT=����!�*%$=����� B�,�!E���I,�,6��0�$&����-g9 4 �%$&������*���*�Fb�= ����� M^�C$=Z1�= ����� ,6��FI�+�D��.���T=���
$&��,�� B ��$=-����` ?�����3.���*����6����W%�C$&.�����- /+!������ ��0E���������I*A���I0E��*�F` ?���I0 �(���Q���I.�*+�(��� �����CWc���I.],6-
/^�'M]��������*+�CWc/�.]� �(�]�����C$&���(��� ��*>�����'-%$&�i$QM�����T=��*+�(�5.]�  ?���I0 �k�i$&���6*�F@$=*+!��%��0 ���I*]��,6.]���6�=*��
�I*J�(������9
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4.4.3 Equal Time of Arrival Surfaces

e �I*����6-����b$&*2�I(]M],6�I���6�I*\B������i�a�6�)�����=�����IM����K�6*\�(�]�1 ?��$=0E�K�& 5���  ?������*�����$&���i$=�i�]��-2��� �����
����*+�(���`�= �����@��(cM�,6�=���6�=*g9 e �=*�����-�����$=* ���I.]�����6-]� �Q�I/�������T=����B��]�E����$ �������k��B��U�(� ������M �����
�(� �(���1����*+�(�����= ���(cM�,��I�����I*g9Am �`�6�@�I/+TH�6�I.]�@���%$&�@�(���1M����=���I*��b$=������TH�6*�FJ���60�.�,U�i$=*]���I.���,�!
$&�Y�(�����I/�������T=���DBY����� *��=�Y��01�����(��-E����0�.�,��($=*����I.���,U!� ?���=0 �������I(cM%$=*�-���*�F���.��� $=���=9L
��������
M����&�(�I*��@BD�����E��01��������-2$&�`-�� � ������*+�`���601���)����*����1 ?���I0 -�� � ������*3�`�($&-��6�L�= D�(���1��01�����(�6*]F
��.]�� $=���A�C$=,�,6��- � �3.%$=,D
���0E�1�= �4������UT&$=, d �L
:4 h`��.]�� $=������9\
��]�AM����=���I*_$=�����UT=$&, ���601�>�6*
�(�]�K�I/�������T=���Q ?�($=01�b��� ����, $&����- �����(���KM]���=�(�=*\��01�6�����6�I* �(�601�b��*n�(�]�K���I.������� ?��$=0E�b$=*�-
������$=* / �Q����� B�* �(��$&�

dt⊕ = dtsrc − dr
µ

c
(4.11)

B��������
dt⊕

$=*]-
dtsrc $=���>�(�]�E�(��0E���)�6* �(���E�I/�������T=��� F �K$=*]-8���I.]�����EF �@ ?�($=01���@�= 

���  ?������*����=W ������M^��������T=��,�!=9
µ = cos(θ) $=*�- drµ/c

���������KM���� ����������- -������i$&*��������($CTI��,6,6��-\/+!
�(�]�b��(cM%$&*�-��6*]F���.]�� $=���`��* ���601�

dt⊕
$&��������*\/+!#�����b�I/]�����kTI����9�45� $&*3! FI�UTI��* �(��0E�

t⊕
W �U�

����M���������*3��� $=* ��,�,6��M����I��- d l'������W � �=qIq+h  ?�I��$>���]��,6, 0E� TH�6*�FKB��U�(� $K���I*��k�i$=*+��TI��,6�H���U�V! β c
W

R =
βct⊕

1 − βµ
(4.12)

�%�I� $=* .�,����($�+ ����, $&����TH�6�k�(�6��$=,6,U! �I(]M�$=*�-���*�FX��.��k $=��� �(����� ��,�,6�6M]���I��- FI�������6FI*�� �%�C$&*3��,�!
������� �(�i����- ��*#$b ?�I��BD$=��-#-��6���������6�I* 9 �%�I�5$�M%$&���(����.�,6$=��,U!>�6*+�(���������(��*�F���$=���Q�= �%����/%$&,6,^�����H�iZ
BD$ T=�KB����(�

Γ ∝ R−3/2 W B��������
Γ
�6������� 	 �I����*+� �� $=� �(�I���= L�(���b��(cM%$=*�-]�6*�F#��.��� $=���K�����%$=�

/^����* ����� B�* /+! K)��$=*��=��� ��$=,f9 d � �����Ih �(�%$ �

R =
c t⊕

1 − µ + 1/(8Γ2) (4.13)


����������%$=M^�`��������0�/�,�����$=*n��,6�I*�FI$&�(��- ��FIF�$&*�- KQ�($=*]�=������$=,f9 d � ��� �+h5���� ?�������(�1����$=��AV�����
�LFIF �&9 �%�I�>$\*��I*V+V����, $&����TH�6�k�(���C$=,�,�! ��(cM%$&*�-��6*]F
��.��� $&���JB����(� $ , $=��FI�A��$=-��6.]�>����� � �H.�$=,
4������UT=$&,=
��601� ��* �(���L�I/]�����kTI��� F �< ?��$=0E� �= H���� ?������*����LBY�I.�,6-)*��&� ,6�H�IZ�$=� �������I*�F=,�!���,6�=*�F+$&����-



4.4 Discussion 125

$=�RAV����� � F=F �>/].]�@0E�����>,6��FI�+�Q�(�($CT=��,L�(��0E�>$=�����I���Q�(���>�VBD� �IM�M^�I���U�(�>��*]-��@BY�I.�,�-2/^�>���
, $&��FI� ���%$&������BY�I.�,�-J*��=��/^�@��M��������6��$=,f9

e �I*����6-����@$J�����>�����H�iZ B5$CT=��FI��*�����$&�(��-a-�.����6*�F#����� K)l'o B��]�6�i�2BD$=�@�6*��U�(�6$=,6,U!
01� TH��*�Fn$ �`.],��(��$�+V����,6$&�(�UTc�������6�b��M ����-��b$=*�-2�%$CTc��*�Fn��,6� BY��-a-]� B�*2�(�J�(���1*��I*,+ ����, $&����TH�6�k�(�6�
��M^����- $&��, $ �(�����601����9 
����Q��� ��� �& <����� �%����/%$&,6, /^�I.�*]-���-J/+!A��.��i� $������H�iZEBD$CTI�)�6�

∼ 1018

��0 $=*�-E�(��� ,��6FI�+� �(��$ T=��,^�(�601��$=�����I���D����� �%����/%$&,6,
∼
!I��$=��9L
��3.���$`M����=���I*A��01�����(��-� ?���I0

�(�]�` ?���=*3�'��*�- �= ��.��i� $ �%����/%$=,�, BY�I.�,�- /^�b���60�.],��i$&*����I.]���6* �����@�I/�������T=��� F �� ?��$=0E�QB��U�(�
$KM����=���I*J��01�����(��-J$&/ �I.c�'$K!=�C$=��/^�� ?�=���Q ?���I0 �(�]�@�=M�M �=������� ����-��)�= �(��� �%����/%$&,6,f9:45��$=*+!
FI�UTI��*#���601�

T⊕
W]�(���Q��.��� $&���)�= :$ �%����/%$=,�,g0E� TH�6*]FbB������JT=��,��c�����V!

β(r) c ∝ r−a ���5�I/]�($=�6*]��-
/+!J�6*+�(��FI�($ �(�6*]F � �H.�$&�(���I* �]9 ��� $=*]- �U���6��FI�UTI��* /+!

T⊕ − tNR =
RNR

βNR c (1 + a)













(

R
RNR

)1+a

− 1












− µ
c

[R − RNR] (4.14)

B��������
tNR

�6� �(�]�>���601�K�= DP�l �(��$=*������(���I*gW
RNR

$=*�-
βNR

$=���=W ������M^��������T=��,�!=W<�����
���=��������M^�I*�-���*�F1�($=-���.���$=*�-#T=��,6�H���U�V! d ��*#.�*��U�(���= 

c
hD�= �����)�����H�iZ� ?���I*+�C9

45�K$&*3!2FI�UTI��*2�(�601�K�(�����b��.��� $=���=W $=�`-��6����.�������-_/ �  ?�I���&W �6�`*��=�K$ ��M��]�����&9\
����
�($&-�� $&���6�I*1���=0E��*�F@ ?���I0 ��.��i�J$ �%����/%$=,6,[�%$&�D�(�`/ � ��*+�(��F=�($&����-�� T=���D������TI�=,6.�01��/^�I.�*]-���-
/+!`�����6�<��.]�� $=���YB������i�bB��6,�,+0�$=Z&� �����D��M �������($ $=*]-b,6��FI�+�<��.��kTI�5��*@�����5P�l ����FI��0E� ��0E�H�=�(� 9

m �K����B��6-���,�!2/ ��,6�6� TI��-8�(�%$&�K����� K)l�oD��W �6*��k�(�C$&-_�= �/^����*�F\�6���=�(���IM����=W ���I.�,6-_/^�
���=,6,6��0�$ �(��- 9 4�� �����5���]�c�iZ@B5$CTI��-]������,6���($&����� $=*�-b���6F=*�� �%��$=*+� ,6$&�(���($=,3��M]���C$&-��6*�F��= [0�$ ���(���
�i$&Z=���`M�, $&���=W<���@���@/^��,��6� TI��-
�(� / �����I01�>��M����������C$=,L�(�]�I.�FI�2���@�6�)*��=�`��,��C$=�)�U D�U�`/^�����I01���
��M]�������6�C$&,g/+!E����� �(��0E�'�= :P�l �(�($&*����U�(�6�=*��I�50b.��i�#, $&�����D$=*�-A�(�]�6�5���I.�,6-��%$CTI�)�601M �=���i$&*3�
/^�C$=���6*�FQ�I*������5���%$=M^��� �= ^��M^��� �(�($)$=*]-K,6�6F=�3� ��.��kTI���Y$&*�->$=,6���Q�I*��(�]���������60E$&�(��� �= ^��*]����F&!
�I.]��M�.]���� ?���I0 K)l�oY��9

�2� �%$CT=�n�C$&,6��.], $&����- ��01�6�����6�I*  ?���=0 ��.��i�N$��%����/%$=,�,�/3! �($=Z3�6*�F2�6*+�(�2$=�����I.�*+�
�L
:4 ��.��� $&������9 4�,6����W�BD�\�%$CT=�\�6*+�(���c-�.]����- $&* $=��!H010E� �(��!�M%$=��$=01���(���E���_�i�����iZ������
� � ��� �(� �= ^$=�k!H0E01������!`�I*��(���5$& "�(����FI,�� B ,��6FI�+�:��.��kTI����9L
:�)$&�i���6� TI��$ FI��$=-�.%$=,]$=*�-���.�*%$=/�,��
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-���M ��*�-���*]���)�= �%.,(��I*
θ
BD�Q.]���)$b����.����������6�� ?.]*������6�I*%$&,  ?�I��0��& <$=��!H010E� �(��!EM%$=��$=01���(���

ζ =
[ε + cos2(θ)]
2 [ε + 1/3] (4.15)


����' $=�����I�Y��*E-]��*��I01�6*�$&�(�I� ��� -].������b*��I��0�$&,6�6��$&�(���I*��= �(����*H.]0E���($&���I� � ∫ π
0 ζ sinθ dθ =

1 9L
����)������.],��i$&*3��,��6FI�+�D��.��kTI���'$=���QM�,6�&���(��-#�6* � ��FI.���� ��9 �c9L4 �3.%$=,����i$ �(��T=� ���=0EM%$&���6���I*A�= 
�(�]�@M],6�=���5B����(�#�����)�I/�������T=��- ,��6FI�+����.���T=�`��$=*J/ �)��.]0E0E$=��������- $&�5 ?�I,6,�� B�� �

•


��]�1�=/�������TI��-a,��6FI�+� ��.���T=���`$=���K��0E�H�=���g9'&'��*����=W �(�]�1,��6FI�+����.��kTI���@�C$&,6��.], $&����-\/+!
�($=Z3�6*�F �6*+�(� $=�����I.]*3� �($&-�� $&���6�I*N�=*�,�! $&,6�I*�F_����� ,6�6*]�\�= ����6FI�+� �6�J*��=� $ ���I���������
����M���������*+�i$&���6�I*��= ������ ���C$=,����V!=9�
���� ��01�6�����6�=* �������60E$&�(���1 ?���I0 �L
:4 ��.]�� $=���������
��,6�I�������(�K�(�]�@���C$=,g$& "�(����FI,�� B /^���%$CTH�6�I.]��9

•


��]�a$=�k!H0E01������!N�= `�(�����%����/%$&,6,Q�f9 �=9������#-���TH�6$&�(���I*N ?���I0 ��M��������6�����V!N0E$=*��U ?���k�(�
�k�(���=*�FI,�!A$&���(�]�@M^�C$&ZA�= :���(��/]���6F=�3��*�������9

•


��]�8M ��$=Z �= K�(���a,6�6F=�3� ��.���T=�=WbB�����* �6*+�(��FI�($ �(��-S� T=��� ����� �L
<4 ��.��k $=���&WbFI� �(�
�k�(��� �(�i����-J� T=���5���601��$�(c���D/+!A$&/ �I.c��$` $=� �(�I� �= �VBY��W����I0EM�$=����-��(�b������,��6FI�+�Y��.��kTI�
-�.]�n�(�_$8M^�I��*3�E���=.������ d ������� ��FI.���� ��9 �a$=*�-N$&,6��� � �6FI.]��� ��9 � h 9 
<�801�c-���,��=/,+
������T=��-A,��6FI�+� ��.���T=���YBY�'�%$CTI��.]����-EM � BY��� , $CB ,��6FI�+�L��.���T=����0E�H�=�(�]��*���-E� TI���Y���601� �

F = Fpeak[(t/tb)−α1 s
+ (t/tb)−α2 s]−1/s B������i� ��0b.�, $&�����'�(������� � �����C9�
:��-��6�k�(�6*]FI.��6���

/^���VBY����*
������-���FI�����K�= Y$=��!H010E� �(��! �I*]�������H.]�6�����Q��.�M^�����6�I� �3.%$=,6�U�V!n-�$&�i$EB��U�(���=.]�
$K����$&��������$=��M���������*+� �6*A�����@$CT=$&�6, $&/�,6��-%$&�i$c9

•


��]�
,��6FI�+����.��kTI� ���%$&M �\���#*��=�AT=����! ����*]��������T=� ���8�(���  ?.]*������6�I*%$&,� ?�I��0 .�����- �6*
M���������*+�>�C$=,���.�,6$&�(���I*���9JoD.]�b�����#$=�k!H0E01������! �= ������ �%����/%$&,6, ���I.�,�-a/^�������(��0�$ �(��- W
M^�����%$=M��1/+!_.�����*�F -�� � ������*+�> ?.�*�� �(�6�=*%$=,D ?�I��0E�K�& $=�k!H0E01������!IWY$=*�- B�������$ �%*]���
����01M �I��$=,g��$=0EM],6�6*]F��= <�(���)-%$&�($]9
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Figure 4.2: Low frequency afterglow light curve due to an asymmetric fireball ex-

panding with NR speeds : The expected light curves due to different degrees of fireball
asymmetry and integrated over the ETA surface. Consider the line corresponding to the
light curve from a point source, − it is as though the entire emission was emerging from
a single point source advancing towards the observer. In this case the light curve has a
sharp peak and peaks relatively early as compared to the light curve due to emission from
ETA surface of the fireball. Similarly, a light curve due to a receding point source would
peak later − at the epoch corresponding to the secondary peak of the asymmetric fireball.
The observed light curves have broadened smooth peaks (see Figure 4.1) which repre-
sents a case of emission from the entire surface instead of from a point source and peaks
at intermediate times. All the light curves are normalised to their peak flux values.
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4.4.4 Source Size Evolution

4�M�$=���  ?���=0 �(����,��6FI�+�L��.���T=��� TI�I,�.]�(���I*gW+��T=�I,6.c�(�6�=*1�& �(�]� ������/�$=,6,���0�$&FI�5��� �����C$&*EM���� Tc��-��
�601M^�I���($=*+�g�6*c ?�I��0E$&�(���I* $&/ �I.c�g�(��� ������/�$=,6, 9<
��]�  ?.�,6,&�����<�= � 	<oYm 01�C$=��.�����0E��*+�(� �= �K@l'o
r � r � � ��$& "�(����FI,�� Ba.�M)�(��sIrIq�-%$C!H� $  "�(���g����� /�.����k� ��$=� / ����*bM]��������*+�(��-��6*@7L�6�],6����� �I0 ��� $=,f9
d �&rIr 
Ih 9 R����6*�F)�(�]�'� TI�I,�.]�(���I*>�= ^�(��� �%����/%$=,�,%�60E$=FI�5��� ���=W,K)��$=*��=� � �Y$=,f9 d �=rIr+p=h ���I*���,6.�-]���
�(��$&�#�(���
$8���=0E�IF=��*����I.��#��������.�09+ /�.������J01��-���.�0 F=��TI��� $8/ � ���(��� ���#�(�%$&* �����\B��6*�- 9
&�� BY��T=����W FI�UTI��*n�(���b.�*��������($=�6*+�(����� ��*n�(�]�K$CT=$&�6, $&/�,6�)01�C$=��.�����0E��*3����B��6*]- ��������.]09+ /�.����k�
01��-���.�0 �C$=*a*��=�`/ �1��.�,���-2�I.]����*
��������$=���E�= K)l�o r � r � � �]9 �%.�����������0E�=���=W �(�]��! �(�k!
�(�1���=*������($=��*J�����)��M^�c�i� �= P�lS���($=*��������6�I*#.����6*�FK�VBY�E-]� � ������*+��01�H-���,�� � � hD���I*]���6-]������*�F
�($&M��6- ,6$&�(���($=,���M�����$=-��6*]F8,6��$=-��6*]F2�(�2�C$=��,�! �����A/�����$=Z �6*�B������i� �(��� !����I*���,6.�-��

t j ∼ 1
01�I*+�(��$=*�-

tNR ∼ 1 !I�C$&��$=*]- �Ih����I*�����-������6*�F
*��
����FI*�� ���C$=*+�1, $&������$=,5��M]���C$&-��6*�F
.�*+�(��,
�(�]�n/�,6$=���>BD$ T=� /^�����=0E���E*��=*,+V����, $ �(��TH�����(���=9�jc�6*]���J�(��� �����E/�����$=Z8�(��0E�&W

t j ∼ 13 -%$C!H��W
�6�`���k�(�60E$&����-2���\$ /^�����(���K$=����.��($&��!2.�����*�F 0�.�,U�(��/%$=*�-
,6��FI�+�`��.���T=����W ���������`�������60E$&�(���b�= 

t jandtNR
 ?���I0 01�c-]��, � $=�����($&�������D.�*��������($=�6*g9L
��]� 0E�H-���,6� �6*�B������i�A�(������� ���D*��K,6$&�(���($=,

��(cM%$&*������I*N.�*+�(��,������n/], $=�k��BD$ T=� /^�����=0E����*��I*V+V����, $&����TH�6�k�(���=WY���������E01�H-���, �cW5�����n*��=*,+
����, $&����TH�6�k�(�������($=*]�������6�I*E$=� �(.%$=,�,�!K��$=M�M^��*���$ ��qIr�+VsIr)-%$C!c�5$& "�(���Y�(�]��/�.������ �]�(����/�, $&���DBD$CTI�
�(�]��*\/^�����=0E������M]�������6�C$&, �I*\$1�(�601�)����$=,6���& � + � !I��$=����9@jc�� ?���=0 ����� �]�(� �= 0E�H-���, �E�U�
�6����,6��$=�5�(�%$ �

tNR ∼ 60 − 80 -%$C!c�'�6*]-�����-g9

4.5 Summary

K)l�o_r � r � � ��M]��������*+�(��-�$&*1.]*�M���������-���*+�(��-���*] ?�I��0E$&���6�I*`$=/^�I.]� K)l�o �%����/%$=,6,��L$=*�-����������
��T=�I,6.c�(�6�=*g9 4�� M �=�6*+�(��-Q�I.]� /^�� ?�I���=WEK@l'o\r � r � � �5-�����M�,6$ !=��-Q�(�]�L/�����FI�+�(���k�<$& "�(����FI,�� B2� TI����9
l'$=-��6�E$& "������F=,6� B �= K)l'oSr � r � � �>�6���(���`,6�I*�F=�������I/������kTI��-
$& "������FI,6� B � TI����9�m ��B5$&� $=,����
�(�]�`$  "�(����FI,6� B �I/�������T=��-n$&���(���),6� BY���k�' ?��� �3.���*���!=W q � r ) & �).����6*�F�K")nl 
Q9

•

mV*��(����� e �%$=Mc�(����W5BD�n�%$CTI� M���������*+�(��- $2-����($=�6,���- ���(.]-]!��& Q�(��� , $&����+ ���601�#�($=-]�6�
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$& "������FI,6� B �= QK)l'o#r � r � � �]9 �a�b�%$CTI���I/c�i$=��*���- 0E��$=��.�����01��*+�(��B����(� �(���<K�)nl:
QW
$&� � �Ip ) & �=WIq � r�) & �5$&*�- � �=sIr%) & � B����(�`$'B���-��L�(��0EM^�I�($&,+��� TI���($=FI�Y.�M`��� � �IrIr
-%$C!H�:$& "�(���g�(���L/�.]������9 
<�IFI� �(����� B��U�(�@$=,�,&�(�]�Y$&,6����$=-]!�M�.�/�,��6������-@�($=-]�6���I/������kT=$ �(�6�=*��
�= c�(����� $& "�(����FI,�� B)W  ?���I0 � j]l:
QW8K")nl 
a$=*�-@�=�(�]��� , $=��FI�L�($&-��6�5����,6�������IM ����W BD� �%$CTI�
�k�(.�-�����-J�(���)M��+!H�������'�= <�(���)/�,6$=����BD$CTI�@�6*#�(���)*��=*,+V����, $ �(��TH�����(����M���$=���&9

•


��]� BD��,6, + �($=01M�,���- , $&����+ ���601�J,6�6F=�3�E��.]��TI���J0�$=-]�n���EM^�I�����6/�,�� �(�a-���������01�6*]� $=*�-
���I0EM�$=��� T=$&���6�=.��:M]�3!H���6�C$&,]M%$=��$=01���(�����:�= ��(�]� �%����/%$=,�,H-].�����*�F�����, $ �(��TH�����(��� $=*�-�*��=*,+
����, $ �(��TH�����(��� M��%$&���=9 �a�@���k�(��0�$&����-J�(���)��*�-���( �& �(�]�@��,6�����(���I* ��*�����F=! -������(���6/�.c�(�6�=*

p = 2.1 W $=*�-8�(��$&���(�]�A��������.]0�/�.������>01��-���.�0X�6�b�]�I0E�=FI��*����I.���9��2�#���=.�,6-_$&,6���
�����(��0�$ �(� �����\��M^�H�i� �& )*��I*,+ ����,6$&�(�UTH�6�����6�J�(��$=*����U�(���I*����_/ �

∼ 60 -%$C!c�J$  "�(���E�(���
/�.]������9>R����6*�FJ��T=�I,6.c�(�6�=*\�= �(���1$& "������F=,6� B -�.�����*�FA�(�]�1*]�I*,+V����,6$&�(�UTc�������6�@M��%$=���>�����
��*�����F=!
�= D�����E/], $=�k�@BD$CTI��BD$=�@���k�(�60E$&����- �(�n/^� 8.2 × 1050 ����F $=*�-
�(���1-���*����U�V!
�= �(�������6����.�0�/].����k� 01��-���.�0

∼ 1.3 ��0 −3 9�
��������K$=���`���I01M%$=��$=/�,��)�����%*�-]�6*�FI��/+!
����TI���($=, �k�(.�-������'�I*J�C$=��,6�����D���601� �I/�������T&$&���6�I*]��9

•

�2�'�%$CTI� ����� B�*��(�%$ �Y������/], $=�k� BD$CTI�&W%$=� ������*A/+!E$=*��I.c�(����-����I/�������T=����W]BD�=.�,6-E*��=�
/^�K��M��]�������C$=, -�.�����*�F������K*��I*,+ ����, $&����TH�6�k�(�6�@��T=�I,6.c�(�6�=*\$=*�-\�(��$&� �(�]�K���I������� �)0E�H-���,
�����I.�,�- �i$&Z=����*3���1����� �L
<4 ��.��� $=����������01�c-]��, �(���`��T=�I,6.]���6�I* �= K)l'oS$& "������F=,6� B��
��*�*��=*,+V����, $ �(��TH�����(���AM��%$&���=9�m �E���>M �I������/�,6�#�(��$&�>�(��� -�� � ������*���� ��* ����� �������60E$&�(���
�= �/�,6$=���C+ BD$ T=� ��*�����F=!_���I.�,6- /^�#-�.��J�(�
$\��,6��FI�+�>-���TH�6$&�(���I*_�= ������ �%����/%$=,�,D ?���I0
��M��������6�����V!I9 �2�\���I01M%$=����-gW�$=,6/^���U���3.%$&,6���($&�(�UTI��,�!IW5�����\�I/������kTI��- $& "������F=,6� B ,6��FI�+�
��.���T=����B��U�(�#�(�]�I���)��(cM^��� �(��-  ?���I0 � 
<4 ��.��k $=�������& *��=*,+V����, $ �(��TH�����(��� �%����/%$&,6,f9

•

mV*
���=*3���($=�k�)B����(�
���=0E�KM�����-��������6�I*���W<$J��$=-����#����+ /�����FI�+�(��*��6*�FJ-�.]�>��� �����>���I.]*3�����
��� �Q/ �����I01�6*]F�*��I*V+V����, $&����TH�6�k�(���=W[�6� *]�=� �I/]�����kTI��-g9b
����b��(c�6�k�(��*]���>�= $A���=.�*+�(��� ��� �
��$=* *��=�>/^�#��.�,���- �I.]��W ���6*����#���K���KM �=������/�,6�E�(�%$&�b�(���JM^�C$=Z3�>�= ��(���#,��6FI�+�K��.���T=���
$&�`,6� B ��$=-��6�J ?�����3.���*����6���K$=��� �[$&���(��*]��-8-�.]���(� �(�����`���I.�*+�(��� ������9 �2���%$CT=�A$=,����
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����� B�*��(�%$ �E�����n����FI�,+ �������I,6.c�(�6�=* � 	 oDm�01�C$=��.�����0E��*+�(���& �(��� $& "������F=,6� B ��0�$=F=�
��� ���b$=���@�6*n$=FI������01��*+�'B������n�I.��',6��FI�+�'��.��kTI���k�(.�-�������9�mV* M%$=�����6��.�, $=��W��(���@T&$=,6.��@�= 

tNR
-�������TI��-a ?���=0 0E�H-���,��6*�FA��������0�$&FI�K��� ���1��TI�=,6.]���6�I*
-��H���b*]�=�b-]� � ���Q ?���I0 �=.��

�%*]-��6*�F=�'���6FI*]� �%��$=*+�(,�!=9
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